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( Addition and Subtraction
} 7 - 1 Addition Algorithm (1)

—»[ZEmiE Calculate 72 + 63 by using the algorithm.

Line up the numbers

Tens | Ones
Illlllm -Ill vertically in each place.
sl

Tens | Ones
® Calculation of the ones
S~

+ 63| Wl pee

Calculation of the tens

Hundreds

Hundreds

place

‘ 1 74+ 6=13

Tens | Ones Hundreds Ones Wnte a 3 |n the tenS

Tens
il 1 pace.
%% + 6 3 |||||| 1\|i‘||| hundreds place.
I I Il :

Regroup | to the
_ Write a | in the hundreds
135 E

Hundreds

place.

72 + 63 = 135

Calculate the following problems by using the algorithm.

@ (2

Hundreds| Tens | Ones Hundreds Ones Hundreds Hundreds| Tens | Ones

Tens Tens | Ones

+ 53 W, + 63 W,
- I [k

58
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!Hundreds

‘ Tens ‘ Ones ‘

Hundreds| Tens

Ones

.

X
9 |

!Hundreds! Tens !Ones! Hundreds| Tens | Ones

5

!Hundreds

‘ Tens ‘Ones‘

75

|
|

5 3

Hundreds

Tens | Ones

55

Hundreds

Tens | Ones

6 3
62
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Tens | Ones
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9 3

Hundreds

52
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Tens | Ones
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7 6
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Tens | Ones
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Hundreds

®

Tens | Ones
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( Addition and Subtraction
7 - 2 Addition Algorithm (2)

() Don't forget to write a |.
ATTh

Ones

;

7]
Hun%ens

3

RES 3+q=@@

-

iy

:
4

y |

)

Hundreds

Tens

Ones

:

3

Y1 +8+4=0)3

4
3

y —
* T

—_
I
A 2
+ v g
A
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—»[3Fnd5 Calculate 83 + 49 by using the algorithm.

Line up the numbers vertically
in each place.

Calculation of the ones place

3+9=12

Regroup | to the tens place.
Calculation of the tens place

The regrouped | and 8 make 9.

9+ 4 =13

Write a 3 in the tens place.
Write a | in the hundreds place.

83 + 49 = 32

Calculate the following problems by using the algorithm.

85
Cae

Hundreds

Tens

Ones

60
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Hundreds| Tens | Ones
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!Hundreds! Tens ‘ Ones ‘

o Tam
L as

5

+

!Hundreds! Tens ‘ Ones ‘

75

6

;

v

4

!Hu"dfeds! Tens ‘ Ones ‘

9 8
+ 33

.

!Hundreds! Tens ‘ Ones ‘

9 4

4 8

Hundreds| Tens

Hundreds

9

7

Hundreds

Hundreds

Tens | Ones

!Hundreds! Tens ‘ Ones |

52

S

10,

Hundreds| Tens nes

4 9
Tl

Hundreds

Tens | Ones

97

33
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( Addition and Subtraction
7 =3 Addition Algorithm (3)

6

-

-

| 3
307

I +6+3=(1)0

Line up the numbers vertically

in each place.

—»[3Fndl5 Calculate 68 + 37 by using the algorithm.

Calculation of the ones place

8+ 7=15

Regroup | to the tens place.

Calculation of the tens place

The regrouped | and 6 make 7.

74+ 3=10

Write a O in the tens place.

Write a | in the hundreds place.

68 + 37 = 105

Calculate the following problems by using the algorithm.

Hundreds| Tens | Ones

Ones

.

e Hundreds| Tens

7

3

2

7

62
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9 Hundreds| Tens | Ones

-2 Lo
© 76

Tens | Ones

Hundreds| Tens | Ones e Hundreds

49
5 |

t 36 4
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i Addition and Subtraction A
7 B 4 Addition Algorithm (4)

—»[3Fnd5 Calculate 437 + 6 by using the algorithm.

!_ine up the numbers vertically
PN T in each place.

o 7\J 7+6=00) Calculation of the ones place
+ 6 7+6=13

| 3‘ Regroup | to the tens place.

] s [0 Calculation of the tens place
a7 The regrouped | and 3 make 4.

Write a 4 in the tens place.

Write a 4 in the hundreds place.

%% | 437 + 6 = 443 %%
Calculate the following problems by using the algorithm.

o Hundreds| Tens 'Ones’ e Hundreds| Tens | Ones

| +8

>0 e 24 T
0 9

0 Hundreds| Tens i Ones | e Hundreds| Tens i Ones | 6 Hundreds| Tens i Ones |
864 566 267
£ 8+ 6+ T

63
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( Addition and Subtraction
7 = 7 Addition Problems (5)

e [ones

e

== [3EndE Calculate 719 + 33 by using the algorithm.

Line up the numbers vertically
in each place.

Calculation of the ones place
9+3=12

Regroup | to the tens place.

Calculation of the tens place

The regrouped | and 3 make 4.
4+ 1 =5

Write a 5 in the tens place.

Write a 7 in the hundreds place.

719 + 33 = 752

Calculate the following problems by using the algorithm.

o Hundreds| Tens | Ones

7.

el T

55

e Hundreds| Tens

Ones

6 3

7

"4

:

64
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e Hundreds| Tens | Ones

+ 19

Hundreds| Tens | Ones e Hundreds| Tens | Ones

545 315

+ 27 o+ 66

o
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( Addition and Subtraction A
7 = 6 Addition Problems

=»[ZEmdE There are 47 red ribbons and 89 white ribbons.
How many ribbons are there altogether? /

Math ~ 4L 7
Sentonce | 47 T89= |36{ T Tste
6

Answer | |36 |ribbons | 3

1_I My friend has 56 pieces of paper. Later, he bought 67
pieces of paper. How many pieces of paper does he

have altogether?

%% Math %%
Sent
entence 4

Answer pieces of paper

2_I 75 boys and 35 girls participated in the school festival.
How many children participated in the school festival

altogether?

Math
Sentence

_|_

Answer children

3_I | read |24 pages of a book yesterday. | read another 37
pages today. How many pages did | read altogether.

Math
Sentence

_I_

Answer pages
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( Addition and Subtraction
L 7 B 7 Subtraction Algorithm (1)

=»[ZEmiE Calculate 125 — 63 by using the algorithm.

fodeb vers [ETERY Line up the numbers vertically in each
| 2 55 —, blace.

_3 36 3 Calculation of the ones place
— AL 5-3=2
= Calculation of the tens place
Hm#f You cannot take 6 from 2, so you need
I to regroup from the hundreds place.
N\g\ 12 —6 =06

5|266\

Write a 6 in the tens place.
There is nothing in the hundreds place.
125 — 63 = 62

Calculate the following problems by using the algorithm.

2/

o Hundreds! Tens !Ones Hundreds! Tens !Ones
mo L Ve w2
- 53 L
3 o e e (4 e e 5 b e o
128 119 113
- 3| - 96 - 83

66

o
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i Addition and Subtraction A
L 7 . 8 Subtraction Algorithm (2) )

= [2EmiE Calculate 163 — 79 by using the algorithm.

Hde Tens Ones Line up the numbers vertically in each
S B place.
| 6.3 /s-~) Calculation of the ones place
- 719 You need to regroup from the tens
—— place.
4 13—9 =4

Write a 4 in the ones place.

@

Calculation of the tens place
A Tone e Since you regrouped, it became b.
1 — You need to regroup from the hundreds
§\|\ ﬁiug place.
15 —7=28
- q Write an 8 in the tens place.
4 There is nothing in the hundreds place.
T |63 — 79 = 84

Calculate the following problems by using the algorithm.

o Hundreds\ Tens \Ones 9 Hundreds\ Tens \Ones

|63- |42@
89 - b4
© ] e e (4] ] e e (5 ) b e
|45 |34 |50
— 86 — 47 - 8‘7

67
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( Addition and Subtraction )
L 7 B 9 Subtraction Algorithm (3) )

=»[2EmE Calculate |04 — 37 by using the algorithm.

H e Gnes Line up the numbers vertically in each
N Q4 place.
_ 37 Calculation of the ones place

You cannot regroup from the tens
place, so you need to regroup from the
hundreds place first.

Then, you need to regroup from the

\l\& \4\@ tens place.
- 3 7 14— 7 =1

! Calculation of the tens place
z‘z |

Since you regrouped, it becomes 9.

Hundreds| Tens | Ones
NIV 9-3=6
N Q% -, Write a 6 in the tens place.

There is nothing in the hundreds place.
104 — 37 = 67

Calculate the following problems by using the algorithm.

o Hundreds‘ Tens | Ones e Hundreds‘ Tens | Ones
ek g
| 0 o) | 0 13

(3 _ 0O == ¢@ _
104 102 101
- 65 - 47 - 59

68

W JICA_24_Z3%_P058-073. indd 68 $ 2022/02/25 14:10:56(




——

i Addition and Subtraction A
7 B 10 Subtraction Algorithm (4) )

= [ZEmile Calculate 282 — 6 by using the algorithm.

Line up the numbers vertically in each

place.

Calculation of the ones place

You need to regroup from the tens

12 —6 =06
Write a 6 in the ones place.

place.

Calculation of the tens place

Since you regrouped, it becomes 7.
Write a 7 in the tens place.

Then, write a 2 in the hundreds place. %%

282 — 6 = 276

Calculate the following problems by using the algorithm.

Hundreds| Tens | Ones
7402

28 2

7

3

567

W JICA 24 AE&_P058-073. indd 69

9]

2,

892

Hundreds| Tens | Ones
6 |15

375

:

- | I8!

o

O mwes
764

- 6

69
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( Addition and Subtraction
L 7 B " Subtraction Algorithm (5)

Hundreds| Tens | Ones

29\

= [2EniE Calculate 271 — 34 by using the algorithm.

Line up the numbers vertically in each

place.

Calculation of the ones place

You need to regroup from the tens

[l —4 =7
Write a 7 in the ones place.

place.

Calculation of the tens place

Since you regrouped, it becomes 6.
6—-—3=3

’ Write a 3 in the tens place.

Then, write a 2 in the hundreds place.

271 — 34 = 237

Calculate the following problems by using the algorithm.

o Hundreds\ Tens \ Ones

7|
- 45

~i=s)

9_

443
- 29

70
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362

- 47

Hundreds\ Tens \ Ones

o

o

670

56
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( Addition and Subtraction A
7 - 12 Subtraction Problems

=»[FEmdE There are 126 students in my school. Today 38
students are absent. How many students are in
my school today?

Math _ | 2
Sentence | |20 — 38 =88 ( _ 3
3

Answer| 88 |students

6
X
3

1_I My sister had |38 pieces of paper. She used 45 of
them. How many pieces of paper does she have now?

Math
Sentence .

Answer pieces of paper

2_I My father had 183 stamps. He sold 97 stamps. How
many stamps does he have now?

Math
Sentence

Answer stamps

3_I There are 633 books in the school library. Now 28
books are checked out. How many books are in the

library now?

Math
Sentence

Answer books

71
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Addition and Subtraction
7 n 13 Review

——

|

I_l_' Calculate the following problems by using the algorithm.

O 67+ 4l

6 7
4

+ |

O 79 + 53

o

€ 867 + 4

_I_

) 53+ 84

O
+ 8

3
4

G 86+ 76

_I_

€O 639 + 37

_I_

€ 34+ 70

_|_

3
7

4
0

O 97+ 89

€) 428 + 24

_I_

I_Z—I Calculate the following problems by using the algorithm.

O 117 - 46

O 139 - 64

| 3 9

~ 64

72
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6

o

€ 179 — 95

7

9

9

S
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|_3_I Answer the following questions.

o In my classroom there are 54 students. In the next
classroom there are 47 students. How many students are
there in the two classrooms?

Math
Sentence

Answer students

e There were |24 people in the national park today. 58
of them went back. How many people are there in the

national park now?

Math
Sentence

Answer people
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